Pat has a cap.

B) Pat has a map.

B> Pat has a bat.

' b> Pat has a bag.

E > Pat has a van.

E‘ > Pat has a pan.

2 Unit 1 )
Short Vowels: /a/a; Verb: has




) @ B ; - : -

. 1 — .I...i;.s | W ® ® & ® & o s b e

! ® ® & & & % 8 % »
. . 9P @& & 8 » =

man mat hat Pat taps a bat. A fat cat

Write the word that finishes each sentence.

b'> Pat has a mat

E;’;‘ Pat has a

B:* Pat taps a

b."» Pat has a

BJ* A man has a

b_'p Pat has a
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Match the sentences that mean the same thing.

- The hat of Will is not big. P Will’s bag is big.

B:';> The cat of Pat is on the mat. b> Pat’s cat is on the mat.
B > The bag of Will is big. b.> Tom’s dog can jog.
B The dog of Tom can jog. ER- Will’s hat is not big.

On/Off

Write the word to match the picture.

D'> Pat's cap is il the dog.
on/off
b':» The mitt is the mat.
on/off
B > Tom is the rock.
on/off
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_The Big\Van

': Pat has a big van. The van has Pat’s bag and mat in it.
- Pat has a map. It has a pot and pan in it.
It has a bat and ball in it.

~ Tom’s big dog hops in. Pat, Tom, and Will fit in the van.
The dog sits in the van. Tom’s big dog fits in the van.
But the box and mitt and pot and
mat cannot fit.

Unit 1
Short Vowels: a, o, i



Questions

Circle yes if the sentence is true.
Circle no if the sentence is not true.

b Pat has a van.

b> A rock is in the van.

Tom has a big map.
Pat's bat is in the van.
A cat is in the van.
Will has a bag.

A hat is in the van.

A mop is in the van.

Tom cannot sit in the van.

B>
P>
B>
B>
B
B
B>
D>

Tom is a dog.

Unit 1 :
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Write the letter that matches the sentence.

D'>

The box is big.

The fox is on the rock.

The mitt is in the box.

A fox can jog.

A six is on the cap.

Will has Pat’s bag.

A box is in the van.

The fox is not in the box.

. Unit 1
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